MTH 162, Quiz #8, Spring 2025 Name

Instructions: Show all work. Use exact answers unless specifically asked to round. Answer all parts of
each question.

1. Solve the equations. Report all solutions on [0,2m).
a. cosx =sin2x

b. 3cos?x—8cosx—3=0

c. 2sin3x++/3=0



Some useful formulas:

sin(a+bh) =smacosh+sinbcosa
sin(a —b)=smacosb—smbcos a
cos(a+b) =cosacosb—sinasinb
cos(a—bh)=cosacosbh+sinasinb
tana+tanh

tan(a+h) = —— "
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sin(%) =+ /—(1 —(;osa)

cos(a) cos(d) = %(cos(a—k b) + cos{a — b))
sin(a) sin(d) = %(cos(a —b) - cos(a + b))
sin(a) cos(b) = %(sin(a + &) + sin(a — b))

cos(a)sin(b) = %(sin(a + &) — sin(a - b))
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